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5.1-5.3 REVIEW ﬁf

2
1) Graph the following parabola: f (X) =X"+4Xx-5

Vertex: “ 2 ,‘E‘ > max@ Direction: M

Axis of symmetry: &g 'L Domain: M“O’ *‘

y — intercept: ( 0," ] b Range: “' 2 "q
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x — intercepts (roots/zeroes/solutions): 5 and ‘

Going from SOLUTIONS - to FACTORED FORM -to STANDARD FORM:

2) x=9 and -2 3) x= 4 and -3 4) x:—ﬂ and >

8

(-2 0 (sx-)(x+3)=0 (3m+4)(8x-9)=0
£-N-1820]  Sltisy-Hy-20 g |5y +324-20=0
\5u*+11x-1220) (24 \1%=-20<0 |




Going from STANDARD FORM - to FACTORED FORM - to the SOLUTIONS:

3) x*+14x+33=0 6) xX*+x=30 7) 2x*—-20x+32=0
(x+W(x+)=0  X+x-30=0 2(32-10% +16) =0
(x+©)(x-5)=0 2 (x-3)(x-2)=0

th',

8) 3x*—45=-6x 9) 5x° =35x-60 10) 2x*+5x-3=0

34 bx 4570 5#'35“6?0 (2x-1)(x+3) =0
3(Fe24-19)=0  S(f-Tuem):0
H(x+)(x-9)70  65(x-H)x-3)"0 (*z)
&) 3




